Construction division. Advice for giving credit to contractors/suppliers.

Sl. No. – site bills				T				
register	128	31			- site	bills	02/0	8/2021
Company Name:	+	PL		Regi			02/0	8/202L P
Name of Contractor	0 .						MF	Ρ
Nature of work	JP, K	aju_						9
	Fixing		rila					
Work done	From	Date 1	25	106/20	222	To Date	4/0	7/2022
Sl. Villa/Flat/block n	o. Qt	у.	Rate	e	Units	Amo		Contractors bill no
1) Bury of Grila	@ ·	, ,	0 ,					om no
2. 1505.5A . Plate	10	7.00	600	0.00	Non	6.121	00 · 00	
(2) Fring of Goods	0				1 30/10			
4. 13cd of glots.	8	P.00	800.	OD	Nobs	640	00.00.	
. 6.					,			
7.								
8.			160				/	
9.	- 1		-			+-/	/	
10.								
11. T	otal:				1	12/	(400 m	/ .
Bill required	□ YES	₽NO.		GST	bill req	uired	□ YES	LNO.
Measurement &	Requi	red			uremen		Enclos	
estimate sheet:	□ Not re				ate shee		□ Not en	
PO/WO no.				PO/W	O date	:		Closed
Remarks:								
•		7 17						
							0	
			,					£ .
Approved by Project Man	nager	Approv	ved by	Desig	n Tean	n App	roved by 1	M D
Date: 2 & 20W		Date:			1	Date		
Sign:		Sign:				Sign		
Notes: 1. This advice must be sen	t within 7 d					Jugn	•	. ".

Notes: 1. This advice must be sent within 7 days of completing work. 2. This form can be used for certifying labour bills, bills for hire charges, earth work, turnkey civil contractors. 3. Wherever not applicable – fill NA. 4. Estimate and measurement sheets are not required for turnkey jobs where guideline rates are clearly given.

Bill for Consumables

P. Raju Madhusudan reddy nagar colony Cherlapally, Hyderabad

Date:02-08-2022

In favor of:

MPL

Project / Site:

MFP

Location:

82/1. Mallapur

Type of Work: Towards:

Fixing of Grills.
Allowance for Consumables

S No.	Description	Amount
1.	Brief description of work done: Fixing of grills at C- Blocks	
	flats purpose.	Rs 2,480.00
	Total amount = $Rs.12,400.00$	165 2, 100.00
	Work done from date 25-06-2022 to 14-07-2022.	

Amount in words: Two Thousand Four Hundred and Eighty Rupees Only.

Sign:	
_	

Bill for Labour charges

P. Raju Madhusudan reddy nagar colony Cherlapally, Hyderabad

Date:02-08-2022

In favor of:

MPL

Project / Site:

MFP

Location:

82/1. Mallapur Fixing of Grills.

Type of Work: Towards:

Allowance for Labour Charges

S No.	Description	Amount
1.	Brief description of work done: Fixing of grills at C- Blocks flats	
	purpose.	Rs 4,960.00
	Total amount = Rs.12,400.00	
	Work done from date 25-06-2022 to 14-07-2022.	

Amount in words: Four Thousand Nine Hundred and Sixty Rupees Only

Sian.		
Sign:		

Bill for Equipment Allowance

P. Raju Madhusudan reddy nagar colony Cherlapally, Hyderabad

Date:02-08-2022

In favor of: Project / Site: MPL MFP

Location:

82/1. Mallapur Fixing of Grills.

Type of Work: Towards:

Allowance for Equipment

S No.	Description	Amount
1.	Brief description of work done: Fixing of grills at C- Blocks flats	
	purpose.	Rs 4,960.00
	Total amount = $Rs.12,400.00$	
	Work done from date 25-06-2022 to 14-07-2022.	

Amount in words: Four Thousand Nine Hundred and Sixty Rupees Only

Sign:	
Sign.	

by Name: MPL Prepared by: May Flower Platinum May Flower Platinum Prepared by: escription: Grils Fitting Work String Fitting Work Merias Fixing of Grills Merias Fixing Work Merias Fixing Work <td< th=""><th>MPL Prepared by: May Flower Platinum Prepared by: Grils Fitting Work P.Raju P.Raju A B P.Raju A B Item Head 02.08.2022 Fixing of Grills-1500 sft flats Length Width Forills at flats Fixing of Grills-1500 sft flats Flat nos C-103,104,301,302,304,402,403,404,701,1004 1.00 Flat nos C-105,305,306,405,406,506,705,706 1.00 Flat nos C-105,305,306,405,406,506,705,706 1.00</th><th>MEASUR</th><th>MEASUREMENT SHEET</th><th>-</th><th>-</th><th></th><th></th><th></th><th></th><th></th></td<>	MPL Prepared by: May Flower Platinum Prepared by: Grils Fitting Work P.Raju P.Raju A B P.Raju A B Item Head 02.08.2022 Fixing of Grills-1500 sft flats Length Width Forills at flats Fixing of Grills-1500 sft flats Flat nos C-103,104,301,302,304,402,403,404,701,1004 1.00 Flat nos C-105,305,306,405,406,506,705,706 1.00 Flat nos C-105,305,306,405,406,506,705,706 1.00	MEASUR	MEASUREMENT SHEET	-	-					
May Flower Platinum May Flower Platinum May Flower Platinum Grils Fitting Work P.Raju May Flower Platinum P.Raju Grils Fitting Work A B P.Raju A B Item Head 02.08.2022 Length Width f Grills at flats Fixing of Grills-1500 sft flats 1.00 1.00 f Grills Fixing of Grills-1800 sft flats 1.00 1.00 F Flat nos C-103,104,301,302,304,402,403,404,701,1004 1.00 1.00 F Flat nos C-105,305,306,405,406,506,705,706 1.00 1.00	May Flower Platinum Grils Fitting Work 9.Raju Grils Fitting Work A B P.Raju A B P.Raju A B Item Head 02.08.2022 Fixing of Grills-1500 sft flats Length Width Forills Fixing of Grills-1500 sft flats 1.00 1.00 Flat nos C-103,104,301,302,304,402,403,404,701,1004 1.00 1.00 Flat nos C-105,305,306,405,406,506,705,706 1.00 1.00	Company 1	Vame:	MPL	Prepared b	у: 	R.Ashok	즤		X
Cit. Grils Fitting Work Image: Control of the properties of	Grils Fitting Work P.Raju Grils Fitting Work Grils Fitting Work Grils Fitting Work A B P.Raju A B P.Raju A B P.Raju A B Fixing of Grills Fixing of Grills	Project:		May Flower Platinum				4		
P.Raju Grils Fitting Work A A P.Raju A A Length Wi Item Head 02.08.2022 Length Wi f Grills at flats Fixing of Grills-1500 sft flats Fixing of Grills-1500 sft flats 1.00 1.00 f Grills Fixing of Grills-1800 sft flats 1.00 1.00 1.00 f Grills Fixing of Grills-1800 sft flats 1.00 1.00 1.00 1.00 f Grills Flat nos C-105,305,306,405,406,506,705,706 1.00	P.Raju Grils Fitting Work A B P.Raju A B P.Raju A B Item Head 02.08.2022 Length Width f Grills Fixing of Grills-1500 sft flats 1.00 1.00 Flat nos C-103,104,301,302,304,402,403,404,701,1004 1.00 1.00 f Grills Fixing of Grills-1800 sft flats 1.00 1.00 Flat nos C-105,305,306,405,406,506,705,706 1.00 1.00	Work Desc	ription:	Grils Fitting Work				\downarrow		
O Item Head P.Raju A Length Wi Fixing of Grills at flats Fixing of Grills-1500 sft flats 1.00 1.00 Fixing of Grills Flat nos C-103,104,301,302,304,402,403,404,701,1004 1.00 1.00 Fixing of Grills Fixing of Grills-1800 sft flats 1.00 1.00 Flat nos C-105,305,306,405,406,506,705,706 1.00 1.00	Grils Fitting Work A B Item Head 02.08.2022 Length Width Fixing of Grills Fixing of Grills-1500 sft flats 1.00 1.00 Pixing of Grills Fixing of Grills-1800 sft flats 1.00 1.00 Fixing of Grills Fixing of Grills-1800 sft flats 1.00 1.00 Flat nos C-105,305,306,405,406,506,705,706 1.00 1.00	Contractor	Name:	P.Raju				\downarrow		
P.Raju	Item Head P.Raju A B Fixing of Grills at flats Fixing of Grills-1500 sft flats Length Width 1 Fixing of Grills Fixing of Grills-1500 sft flats 1.00 1.00 1.00 2 Fixing of Grills Fixing of Grills-1800 sft flats 1.00 1.00 1.00 3 Flat nos C-105,305,306,405,406,506,705,706 1.00 1.00 1.00	Date:		Grils Fitting Work				\downarrow		
Item Head 02.08.2022 Length Wi Fixing of Grills at flats Fixing of Grills-1500 sft flats 1.00 Fixing of Grills Flat nos C-103,104,301,302,304,402,403,404,701,1004 1.00 Fixing of Grills Fixing of Grills-1800 sft flats 1.00 Flat nos C-105,305,306,405,406,506,705,706 1.00 1	Item Head 02.08.2022 Length Width Fixing of Grills at flats Fixing of Grills-1500 sft flats 1.00 1.00 1 Fixing of Grills Flat nos C-103,104,301,302,304,402,403,404,701,1004 1.00 1.00 2 Fixing of Grills Fixing of Grills-1800 sft flats 1.00 1.00 Flat nos C-105,305,306,405,406,506,705,706 1.00 1.00	-		P.Raju	A	В			Ω	
Fixing of Grills at flats Fixing of Grills Fixing of Grills-1500 sft flats 1.00 Fixing of Grills Flat nos C-103,104,301,302,304,402,403,404,701,1004 1.00 Fixing of Grills Fixing of Grills-1800 sft flats 1.00 Flat nos C-105,305,306,405,406,506,705,706 1.00	Fixing of Grills Fixing of Grills-1500 sft flats 1.00 1.00 Fixing of Grills Flat nos C-103,104,301,302,304,402,403,404,701,1004 1.00 1.00 Fixing of Grills Fixing of Grills-1800 sft flats 1.00 1.00 1.00 Flat nos C-105,305,306,405,406,506,705,706 1.00 1.00 1.00	S.No	Item Head	02.08.2022	Length	Width	Ħ	Height	eight Nos	\dashv
Fixing of Grills Fixing of Grills-1500 sft flats 1.00 Flat nos C-103,104,301,302,304,402,403,404,701,1004 1.00 Fixing of Grills Fixing of Grills-1800 sft flats 1.00 Flat nos C-105,305,306,405,406,506,705,706 1.00	Fixing of Grills Fixing of Grills-1500 sft flats 1.00 Flat nos C-103,104,301,302,304,402,403,404,701,1004 1.00 Fixing of Grills Fixing of Grills-1800 sft flats 1.00 Flat nos C-105,305,306,405,406,506,705,706 1.00	E	xing of Grills at flats		0			D C	\dashv	
Fixing of Grills Fixing of Grills-1500 sft flats 1.00 Flat nos C-103,104,301,302,304,402,403,404,701,1004 1.00 Fixing of Grills Fixing of Grills-1800 sft flats 1.00 Flat nos C-105,305,306,405,406,506,705,706 1.00	Fixing of Grills Fixing of Grills-1500 sft flats 1.00 Flat nos C-103,104,301,302,304,402,403,404,701,1004 1.00 Fixing of Grills Fixing of Grills-1800 sft flats 1.00 Flat nos C-105,305,306,405,406,506,705,706 1.00									
Flat nos C-103,104,301,302,304,402,403,404,701,1004 Fixing of Grills Fixing of Grills-1800 sft flats Flat nos C-105,305,306,405,406,506,705,706 1.00	Fixing of Grills Fixing of Grills Fixing of Grills-1800 sft flats Flat nos C-105,305,306,405,406,506,705,706 Flat nos C-105,305,306,405,406,506,705,706	1 Fi	xing of Grills	Fixing of Grills-1500 sft flats	1.00	1.00		1.00	1.00 10.00	
Fixing of Grills Fixing of Grills-1800 sft flats 1.00 Flat nos C-105,305,306,405,406,506,705,706 1.00	Fixing of Grills Fixing of Grills-1800 sft flats 1.00 Flat nos C-105,305,306,405,406,506,705,706 1.00			Flat nos C-103,104,301,302,304,402,403,404,701,1004						
Fixing of Grills Fixing of Grills-1800 sft flats 1.00 Flat nos C-105,305,306,405,406,506,705,706 1.00	Fixing of Grills Fixing of Grills-1800 sft flats 1.00 Flat nos C-105,305,306,405,406,506,705,706 1.00									. ,
Flat nos C-105,305,306,405,406,506,705,706	Flat nos C-105,305,306,405,406,506,705,706	_	xing of Grills	Fixing of Grills-1800 sft flats	1.00	1.00		1.00	1.00 8.00	
				Flat nos C-105,305,306,405,406,506,705,706						
		-					- 1			

MPL	Prepared by		R.Ashok		
May Flower Platinum					
Grils Fitting Work					
P.Raju					
02.08.2022			-		
			-		
Item Description	Quantity	Units	Rate	Amount	Grand Total
			-	_	
Fixing of Grills-1500 sft flats	10.00	No's	600.00	6,000.00	
The state of the s					
Flat nos C-104,1004 & 701					
Flat nos C-104,1004 & 701					
Flat nos C-104,1004 & 701 Fixing of Grills-1800 sft flats	8.00	No's	800.00	6,400.00	
Flat nos C-104,1004 & 701 Fixing of Grills-1800 sft flats Flat nos A-207,B-303,603,703,704,C-606 & 905	8.00		800.00	6,400.00	12,400.0
Flat nos C-104,1004 & 701 Fixing of Grills-1800 sft flats Flat nos A-207,B-303,603,703,704,C-606 & 905	8.00	- - - - - - - - - - 	800.00	6,400.00	12,400.0
Flat nos C-104,1004 & 701 Fixing of Grills-1800 sft flats Flat nos A-207,B-303,603,703,704,C-606 & 905 Amount in words: Twelve Thousand Four Hundred Rug	8.00		800.00	6,400.00	12,400.0
Flat nos C-104,1004 & 701 Fixing of Grills-1800 sft flats Flat nos A-207,B-303,603,703,704,C-606 & 905 Amount in words: Twelve Thousand Four Hundred Rupees Only	8.00 ees Only		800.00	6,400.00	12,400.0
Flat nos C-104,1004 & 701 Fixing of Grills-1800 sft flats Flat nos A-207,B-303,603,703,704,C-606 & 905 Amount in words: Twelve Thousand Four Hundred Rug oval for Rs. 600 for 1500 sft flats, Rs. 800 for 1800 sft flat for fixing	8.00 8.00 ees Only g of grills.		800.00	6,400.00	12,400.0
Fixing of Grills Fixing of Grills-1800 sft flats 8 Fixing of Grills-1800 sft flats Flat nos A-207,B-303,603,703,704,C-606 & 905 8 Amount in words: Twelve Thousand Four Hundred Rupees Only Only Note: MD sir given approval for Rs. 600 for 1500 sft flats, Rs. 800 for 1800 sft flat for fixing of grills	8.00 ees Only g of grills.		800.00	6,400.00	12,400.0
Flat nos C-104,1004 & 701 Fixing of Grills-1800 sft flats Flat nos A-207,B-303,603,703,704,C-606 & 905 Amount in words: Twelve Thousand Four Hundred Rug oval for Rs. 600 for 1500 sft flats, Rs.800 for 1800 sft flat for fixing	8.00 ees Only g of grills.		800.00	6,400.00	12,400.00
	MPL May Flower Platinum Grils Fitting Work P.Raju 02.08.2022 Item Description Fixing of Grills-1500 sft flats	ower Platinum tting Work 022 escription Qua	over Platinum tting Work 022 033 OF Grills-1500 sft flats OF Grills-1500 sft flats	ower Platinum tting Work Corp. Cor	ower Platinum tting Work 022 Of Grills-1500 sft flats Prepared by: R.Ashok Quantity Units Rate